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PartA
Answer any ten questions.

Each question carries 2 marks.

1. Define time series.

2. Mention one example for random variation in time series.
3. What is meant by secular trend?

4. Define time reversal test |

5. Define Paasche’s Index number.

6. Mention the quotient rule associated with differentiation.
7. Define matrix.

8. Define a minor and cofactor.

9. Define relative frequency approach of probability.

10. Define sample space.

11. Four coins are tossed simultaneously. What is the probability of getting two heads?

12. Merits of normal distribution.
(10%x2=20)
PartB

Answer any six questions.

Each question carries 5 marks.
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What are the factors affecting seasonal vaiations?
Explain moving average method in time series analysis.
Define index number. Mention its uses.

Calculate simple aggregate index number from the following data

items A B C D
price in 1998 40 60 20 50
price in 1999 50 80 30 70

Explain consumer price index numbers.

lFA={1,357}and B ={24,68}C={7,89710}Find1.A U(B~C)
2. A~ (B UC)

2 1 ‘ {“’1 0}
Find BAifA = {_31 2} mdm= L ¥ 1

Explain the addition and multiplication theorem of probability.

One hundred investigators are asked to take samples of 10 persons each to determine
whether they are vegetarians. How many invetigators would you expect to report 2 or less
are vegetarians assuming that 40 percent of the people are vegetarians?
(6x5=30)
PartC
Answer any two questions.

Each guestion carries 15 marks.

1) Explain the method of semi average in finding the trend.
2) Apply the method of semi average for determining the trend.

year 20112012 [2013 /20142015 2016 12017 2018 12019
value 10 12 |15 |20 |18 25 24 28 |34

Solve the system of equation : 12 x- 16 y+20z = -24 , 4x+4y-8z = -4 and 8x+12y +4z = 20

Distinguish between weighted and unweighted index numbers? Explain the methods used
for their construction.

Mean salary of workers in a factory is Rs.5400 with a SD of Rs.480. If a workers is

selected at randoam find the probability that his salary is (i) less that Rs.4800, (b) between

Rs.5000 and Rs.6000, (iii) exactly equal to Rs.5100 (iv) greater than Rs.5600 ‘
(2x15=30)
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